October 7, 2009

Williamson County Purchasing Department 301 S.E. Inner Loop, Suite 106 Georgetown, Texas 78626



Attention: Jonathan Harris

Assistant Purchasing Agent

Re: Williamson County Road Bond Program

CR 214 Phase 2A

Williamson County Project No. 09WC723 Recommendation of Contractor Award

Dear Mr. Harris,

Please find attached the bid tabulations for the subject-referenced project. The bids have been reviewed and adjusted for correctness. Corrections were necessary to FT Woods Construction, Aaron Concrete, and Champion Site Prep's bids. The errors were due to summation or rounding errors in the bidders' spreadsheets. The corrections did not change the status of the low bidder. The revised bids are therefore accepted as hereby submitted, with FT Woods Construction Services, Inc. being the low bidder. Following is a summary of the bid totals:

1.	FT Woods Construction	\$ 1,183,999.03
2.	Joe Bland Construction	\$ 1,313,929.98
3.	Ranger Excavating	\$ 1,460,627.18
4.	Chasco Constructors	\$ 1,467,059.81
5.	Capital Excavation	\$ 1,472,011.61
6.	Smith Contracting	\$ 1,496,988.73
7.	Cash Construction	\$ 1,507,677.00
8.	Austin Bridge & Road	\$ 1,559,183.01
9.	Dan Williams Co.	\$ 1,659,968.93
10.	RGM Constructors	\$ 1,764,052.11
11.	Aaron Concrete	\$ 1,838,510.57
12.	Champion Site Prep	\$ 2,042,456.35
13.	Hunter Industries	\$ 2,054,359.36

Williamson County Road Bond Program CR 214 Phase 2A Williamson County Project No. 09WC723 Recommendation of Contractor Award October 7, 2009 Page 2 of 2

The Contractor's low bid is \$854,077.11 under the Engineer's estimated cost of construction. This represents an approximate 42% savings to the County.

In addition to meeting the bid qualifications subject to being low bidder FT Woods Construction successfully completed the CR 424 Bridge Replacement project under the Williamson County Road Bond Program. FT Woods Construction has also been recommended highly by all contacted references. We therefore concur with the recommendation of the Design Engineer, Rogers Design Service, for award of the CR 214 Phase 2A construction contract to FT Woods Construction Services, Inc in the contract amount of \$1,183,999.03.

Please feel free to contact our office with any questions.

Respectfully Submitted,

HNTB Corporation

James D. Klotz, P.E.

VIA E-MAIL ONLY

Attachments: Bid Tabulation Analysis, Engineer's Letter of Recommendation

Cc: Judge Gattis, Williamson County Judge
Commissioner Birkman, Williamson County, Pct. 1
Commissioner Long, Williamson County, Pct. 2
Commissioner Covey, Williamson County, Pct. 3
Commissioner Morrison, Williamson County, Pct. 4
Bob Daigh, Williamson County
Joe England, Williamson County
Mike Weaver, Prime Strategies, Inc.
Richard Ridings, HNTB Corporation
Dan Rogers, RDS
Project File



October 6, 2009

HNTB Corporation 14 Galloping Road Round Rock, TX 78681 Attention: James Klotz, P.E.

RE: CR 214 Phase 2A Bid Review

I have reviewed the bids submitted for the CR 214 Project. The apparent low bidder (FT Woods) did have a minor error in the bid. Item 400-2003 was bid at a rate of \$7.25 per CY with an estimated quantity of 324.5 CY. This yields a cost for this item of \$2,352.63. They entered a total of \$2,353.60 for the item. This is an overestimation of \$0.98. In addition, the Aaron Concrete bid had an error. All bid prices and extensions were correct, but the summation of the individual prices was \$102,294.00 below the correct summation.

There was no widespread and repeated error to indicate that there was an error in the bidding documents. In addition, the error in the FT Woods bid is so small as to not warrant consideration. Accordingly, I recommend that FT Woods as apparent low bidder be selected for this project.

Please contact me if you have any questions.

Van Rogas, P.E.
Dan Rogers, P.E.

Williamson County Road Bond Program 09WC723 - CR 214 Phase 2A HNTB Bid Tabulation October 7, 2009

Bid Comparison

Bidder	Bid Amount	Rank	ference from er's Estimate (\$)	Difference from Engineer's Estimate (%)	Difference m Low Bid (\$)	Difference from Low Bid (%)
FT WOODS CONSTRUCTION	\$ 1,183,999.03	1	\$ (854,077.11)	-41.91%	-	•
JOE BLAND CONSTRUCTION	\$ 1,313,929.98	2	\$ (724,146.16)	-35.53%	\$ 129,930.95	10.97%
RANGER EXCAVATING	\$ 1,460,627.18	3	\$ (577,448.96)	-28.3%	\$ 276,628.15	23.4%
CHASCO CONSTRUCTORS	\$ 1,467,059.81	4	\$ (571,016.33)	-28.0%	\$ 283,060.78	23.9%
CAPITAL EXCAVATION	\$ 1,472,011.61	5	\$ (566,064.53)	-27.8%	\$ 288,012.58	24.3%
SMITH CONTRACTING	\$ 1,496,988.73	6	\$ (541,087.41)	-26.5%	\$ 312,989.70	26.4%
CASH CONSTRUCTION	\$ 1,507,677.00	7	\$ (530,399.14)	-26.0%	\$ 323,677.97	27.3%
AUSTIN BRIDGE & ROAD	\$ 1,559,183.01	8	\$ (478,893.13)	-23.5%	\$ 375,183.98	31.7%
DAN WILLIAMS CO.	\$ 1,659,968.93	9	\$ (378,107.21)	-18.55%	\$ 475,969.90	40.2%
RGM CONSTRUCTORS	\$ 1,764,052.11	10	\$ (274,024.03)	-13.45%	\$ 580,053.08	49.0%
AARON CONCRETE	\$ 1,838,510.57	11	\$ (199,565.57)	-9.8%	\$ 654,511.54	55.3%
CHAMPION SITE PREP	\$ 2,042,456.35	12	\$ 4,380.21	0.21%	\$ 858,457.32	72.5%
HUNTER INDUSTRIES	\$ 2,054,359.36	13	\$ 16,283.22	0.8%	\$ 870,360.33	73.5%

BID	TECH	DESCRIPTION	BID	UNIT	ENGINEER'S	S ESTIMATE	FT WOODS CO	NSTRUCTION	JOE BLAND CO	ONSTRUCTION	RANGER EX	CAVATING
ITEM	SPEC		QUANTITY	MEASURE	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID
1	100-2002	PREPARING ROW	71.6	STA	\$1,000.00	\$71,600.00	\$425.00	\$30,430.00	\$570.00	\$40,812.00	\$650.00	\$46,540.00
2	105-2020	REMOV STAB BASE AND ASPHALT (PAV)	8,858	SY	\$3.50	\$31,003.00	\$0.50	\$4,429.00	\$1.75	\$15,501.50	\$1.00	\$8,858.00
3	110-2001	EXCAVATION (RDWY)	16,487	CY	\$8.00	\$131,896.00	\$1.75	\$28,852.25	\$3.30	\$54,407.10	\$5.11	\$84,248.57
4	110-2002	EXCAVATION (CHAN)	703.7	CY	\$20.00	\$14,074.00	\$4.25	\$2,990.73	\$1.90	\$1,337.03	\$5.11	\$3,595.91
5	132-2004	EMBANK (FINAL) (DENS CONT) (TY B)	34,691	CY	\$7.00	\$242,837.00	\$3.60	\$124,887.60	\$4.80	\$166,516.80	\$3.97	\$137,723.27
6	160-2003	FURNISHING AND PLACING TOPSOIL (4")	44,767	SY	\$1.75	\$78,342.25	\$0.45	\$20,145.15	\$1.15	\$51,482.05	\$0.50	\$22,383.50
7	164	BROADCAST SEED (TEMP) (WARM OR COOL)	22,384	SY	\$0.25	\$5,596.00	\$0.09	\$2,014.56	\$0.11	\$2,462.24	\$0.27	\$6,043.68
8	164-2035	DRILL SEEDING (PERM) (RURAL) (CLAY)	44,767	SY	\$0.35	\$15,668.45	\$0.09	\$4,029.03	\$0.12	\$5,372.04	\$0.32	\$14,325.44
9	169-2001	SOIL RETENTION BLANKETS (CL1) (TYA)	455	SY	\$1.50	\$682.50	\$0.80	\$364.00	\$1.40	\$637.00	\$0.98	\$445.90
10	247-244	FL BS (CMP IN PLC) (TY A GR 4) (FINAL POS)	11,743	CY	\$22.00	\$258,346.00	\$18.50	\$217,245.50	\$17.25	\$202,566.75	\$25.23	\$296,275.89
11	310-2001	PRIME COAT (MC-30)	6,154	GAL	\$4.00	\$24,616.00	\$3.24	\$19,938.96	\$3.06	\$18,831.24	\$2.99	\$18,400.46
12	341-2034	D-GR HMA(QCQA) TY-C PG64-22	3,386	TON	\$60.00	\$203,160.00	\$47.00	\$159,142.00	\$48.00	\$162,528.00	\$50.19	\$169,943.34
13	341-2006	D-GR HMA(QCQA) TY-D PG64-22	2,539	TON	\$70.00	\$177,730.00	\$47.00	\$119,333.00	\$47.40	\$120,348.60	\$51.08	\$129,692.12
14	354-2051	PLANE ASPH CONC PAV (0" TO 1 1/2")	345.3	SY	\$7.44	\$2,569.03	\$9.00	\$3,107.70	\$1.61	\$555.93	\$15.64	\$5,400.49
15	400-2002	STRUCT EXCAV (BOX)	76.3	CY	\$61.40	\$4,684.82	\$15.25	\$1,163.58	\$5.00	\$381.50	\$10.20	\$778.26
16	400-2003	STRUCT EXCAV (PIPE)	324.5	CY	\$7.31	\$2,372.10	\$7.25	\$2,352.63	\$3.00	\$973.50	\$10.20	\$3,309.90
17	432-2002	RIPRAP (CONC)(5IN)	27.66	CY	\$275.00	\$7,606.50	\$216.00	\$5,974.56	\$225.00	\$6,223.50	\$331.50	\$9,169.29
18	432-2005	RIPRAP (STONE TY R) (DRY) (6 IN)	50.96	CY	\$10.00	\$509.60	\$15.00	\$764.40	\$50.65	\$2,581.12	\$95.00	\$4,841.20
19	432-2040	RIPRAP (MOW STRIP) (5 IN)	5.47	CY	\$400.00	\$2,188.00	\$470.00	\$2,570.90	\$250.00	\$1,367.50	\$433.50	\$2,371.25
20	460-2003	CMP (GAL STL 18 IN)	191.8	LF	\$37.76	\$7,242.37	\$34.00	\$6,521.20	\$31.00	\$5,945.80	\$38.76	\$7,434.17
21	460-2004	CMP (GAL STL 24 IN)	55.1	LF	\$48.86	\$2,692.19	\$47.00	\$2,589.70	\$39.00	\$2,148.90	\$40.80	\$2,248.08
22	460-2005	CMP (GAL STL 30 IN)	21.2	LF	\$55.00	\$1,166.00	\$60.00	\$1,272.00	\$44.00	\$932.80	\$53.04	\$1,124.45
23	462-2010	CONC BOX CULVERT (6FT x 3FT)	304	LF	\$330.00	\$100,320.00	\$174.00	\$52,896.00	\$160.00	\$48,640.00	\$193.80	\$58,915.20
24	464-2003	RC PIPE (CL III) (18 IN)	45	LF	\$65.00	\$2,925.00	\$22.00	\$990.00	\$24.10	\$1,084.50	\$36.72	\$1,652.40
25	464-2005	RC PIPE (CL III) (24 IN)	374	LF	\$90.00	\$33,660.00	\$28.00	\$10,472.00	\$41.00	\$15,334.00	\$40.80	\$15,259.20
26	464-2007	RC PIPE CL III) (30 IN)	294	LF	\$95.00	\$27,930.00	\$38.00	\$11,172.00	\$50.00	\$14,700.00	\$51.00	\$14,994.00
27	464-2009	RC PIPE (CL III) (36 IN)	219	LF	\$105.00	\$22,995.00	\$48.00	\$10,512.00	\$70.00	\$15,330.00	\$61.20	\$13,402.80
28	466-2035	WINGWALL (FW-S)(HW=5FT)	1	EA	\$8,000.00	\$8,000.00	\$8,200.00	\$8,200.00	\$6,600.00	\$6,600.00	\$8,568.00	\$8,568.00
29	466-2036	WINGWALL (FW-S)(HW=67FT)	1	EA	\$8,000.00	\$8,000.00	\$9,500.00	\$9,500.00	\$9,000.00	\$9,000.00	\$9,180.00	\$9,180.00
30	467-2209	SET (TY II) (18 IN) (RCP) (3:1) C	1	EA	\$2,250.00	\$2,250.00	\$795.00	\$795.00	\$1,100.00	\$1,100.00	\$1,071.00	\$1,071.00
31	467-2211	SET (TY II) (24 IN) (RCP) (3:1) C	5	EA	\$2,250.00	\$11,250.00	\$1,075.00	\$5,375.00	\$1,230.00	\$6,150.00	\$1,122.00	\$5,610.00
32	467-2213	SET (TY II) (30 IN) (RCP) (3:1) C	8	EA	\$2,750.00	\$22,000.00	\$1,675.00	\$13,400.00	\$1,490.00	\$11,920.00	\$1,581.00	\$12,648.00
33	467-2215	SET (TY II) (36 IN) (RCP) (3:1) C	3	EA	\$3,000.00	\$9,000.00	\$2,050.00	\$6,150.00	\$1,674.60	\$5,023.80	\$2,193.00	\$6,579.00
34	467-2222	SET (TY II) (18 IN) (RCP) (4:1) C	1	EA	\$2,500.00	\$2,500.00	\$795.00	\$795.00	\$1,153.10	\$1,153.10	\$1,122.00	\$1,122.00
35	467-2224	SET (TY II) (24 IN) (RCP) (4:1) C	5	EA	\$2,750.00	\$13,750.00	\$1,075.00	\$5,375.00	\$1,385.66	\$6,928.30	\$1,479.00	\$7,395.00
36	467-2227	SET (TY II) (36 IN) (RCP) (4:1) C	3	EA	\$3,000.00	\$9,000.00	\$2,050.00	\$6,150.00	\$1,886.04	\$5,658.12	\$2,244.00	\$6,732.00

BID ITEM	TECH SPEC	DESCRIPTION	BID QUANTITY	UNIT MEASURE	ENGINEER'	S ESTIMATE	FT WOODS CO	NSTRUCTION	JOE BLAND CO	DNSTRUCTION	RANGER EXC	CAVATING
IIEW	SFEC		QUANTITI	MEASURE	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID
37	467-2301	SET (TY II) (18 IN) (CMP) (6:1) P	12	EA	\$1,000.00	\$12,000.00	\$800.00	\$9,600.00	\$1,071.34	\$12,856.08	\$1,224.00	\$14,688.00
38	467-2303	SET (TY II) (24 IN) (CMP) (6:1) P	4	EA	\$1,050.00	\$4,200.00	\$1,075.00	\$4,300.00	\$1,354.96	\$5,419.84	\$1,377.00	\$5,508.00
39	467-2305	SET (TY II) (30 IN) (CMP) (6:1) P	2	EA	\$1,100.00	\$2,200.00	\$1,500.00	\$3,000.00	\$1,717.50	\$3,435.00	\$1,632.00	\$3,264.00
40	496-2016	REM STR (PIPE)	6	EA	\$250.00	\$1,500.00	\$250.00	\$1,500.00	\$467.13	\$2,802.78	\$714.00	\$4,284.00
41	500-2001	MOBILIZATION	1	LS	\$190,000.00	\$190,000.00	\$23,627.30	\$23,627.30	\$70,000.00	\$70,000.00	\$80,000.00	\$80,000.00
42	502-2001	BARRICADES, SIGNS AND TRAF HANDLING	9	MO	\$2,500.00	\$22,500.00	\$2,750.00	\$24,750.00	\$1,834.51	\$16,510.59	\$1,734.70	\$15,612.30
43	506-2001	ROCK FILTER DAMS (INSTALL) (TY 1)	420	LF	\$36.00	\$15,120.00	\$10.35	\$4,347.00	\$19.88	\$8,349.60	\$10.93	\$4,590.60
44	506-2003	ROCK FILTER DAMS (INSTALL) (TY 3)	20	LF	\$45.70	\$914.00	\$36.00	\$720.00	\$29.55	\$591.00	\$27.31	\$546.20
45	506-2009	ROCK FILTER DAMS (REMOVE)	440	LF	\$10.90	\$4,796.00	\$4.25	\$1,870.00	\$9.40	\$4,136.00	\$3.45	\$1,518.00
46	506-2016	CONSTRUCTION EXITS (INSTALL) (TY 1)	156	SY	\$13.13	\$2,048.28	\$6.85	\$1,068.60	\$11.28	\$1,759.68	\$6.90	\$1,076.40
47	506-2019	CONSTRUCTION EXITS (REMOVE)	156	SY	\$6.80	\$1,060.80	\$4.75	\$741.00	\$6.45	\$1,006.20	\$3.45	\$538.20
48	506-2035	BIODEGRADEBLE EROSION CONTROL LOGS (18 IN)	8,132	LF	\$4.50	\$36,594.00	\$5.50	\$44,726.00	\$5.91	\$48,060.12	\$4.26	\$34,642.32
49	508-2001	CONSTRUCTING DETOURS	6.5	STA	\$2,000.00	\$13,000.00	\$875.00	\$5,687.50	\$2,604.76	\$16,930.94	\$2,700.00	\$17,550.00
50	530-2011	DRIVEWAYS (ACP)	1,393	SY	\$25.00	\$34,825.00	\$17.75	\$24,725.75	\$11.03	\$15,364.79	\$17.56	\$24,461.08
51	540-2001	MTL W - BEAM GD FEN (TIM POST)	314.76	LF	\$20.00	\$6,295.20	\$21.00	\$6,609.96	\$20.15	\$6,342.41	\$19.43	\$6,115.79
52	540-2002	MTL W - BEAM GD FEN (STEEL POST)	85.24	LF	\$20.00	\$1,704.80	\$42.00	\$3,580.08	\$40.30	\$3,435.17	\$29.40	\$2,506.06
53	540-2005	TERMINAL ANCHOR SECTION	2	EA	\$500.00	\$1,000.00	\$515.00	\$1,030.00	\$456.75	\$913.50	\$420.00	\$840.00
54	544-2001	GUARDRAIL END TREATMENT (INSTALL)	2	EA	\$1,800.00	\$3,600.00	\$2,400.00	\$4,800.00	\$2,203.15	\$4,406.30	\$1,890.00	\$3,780.00
55	560-2001	MAILBOX INSTALLATION (SINGLE)	1	EA	\$200.00	\$200.00	\$170.00	\$170.00	\$128.96	\$128.96	\$160.50	\$160.50
56	644-2001	INS SM RD SN SUP&AM TY 10BWG(1) SA(P)	6	EA	\$375.00	\$2,250.00	\$460.00	\$2,760.00	\$381.52	\$2,289.12	\$428.00	\$2,568.00
57	658-2240	INSTL DEL ASSM (D-SW) SZ 1 (FLX) GF-2	12	EA	\$45.00	\$540.00	\$51.00	\$612.00	\$25.79	\$309.48	\$48.15	\$577.80
58	658-2275	INSTL DEL ASSM (D-SY) SZ 2 (WC) GND	16	EA	\$35.00	\$560.00	\$74.00	\$1,184.00	\$25.79	\$412.64	\$69.55	\$1,112.80
59	658-2315	INSTL OM ASSM (OM-2Y) (WC) GND	4	EA	\$50.00	\$200.00	\$55.00	\$220.00	\$34.39	\$137.56	\$51.90	\$207.60
60	662-2004	WRK ZN PAV MRK NON-REMOV (W) (4") (SLD)	10,872	LF	\$0.20	\$2,174.40	\$0.20	\$2,174.40	\$0.18	\$1,956.96	\$0.29	\$3,152.88
61	662-2032	WRK ZN PAV MRK NON-REMOV (Y) (4")(SLD)	10,872	LF	\$0.20	\$2,174.40	\$0.20	\$2,174.40	\$0.18	\$1,956.96	\$0.29	\$3,152.88
62	666-2012	REFL PAV MRK TY I (W) (4") (SLD)	13,796	LF	\$0.20	\$2,759.20	\$0.30	\$4,138.80	\$0.27	\$3,724.92	\$0.32	\$4,414.72
63	666-2157	REFL PAV MRK TY I (W) (24") (SLD)	20	LF	\$5.00	\$100.00	\$23.00	\$460.00	\$21.49	\$429.80	\$12.84	\$256.80
64	666-5178	REFL PAV MRK TY I (Y) (4") (SLD)	14,038	LF	\$0.25	\$3,509.50	\$0.28	\$3,930.64	\$0.27	\$3,790.26	\$0.34	\$4,772.92
65	672-2015	REFL PAV MRKR TYI I-A-A	181	EA	\$2.75	\$497.75	\$3.75	\$678.75	\$3.60	\$651.60	\$5.08	\$919.48
66	677-2001	ELIM EXT PAV MRK & MRKS (4")	1,200	LF	\$0.30	\$360.00	\$0.55	\$660.00	\$0.48	\$576.00	\$0.80	\$960.00
67	400-XXXX	CUT & RESTORE PAVEMENT (DRIVEWAY)	7	SY	\$50.00	\$350.00	\$83.00	\$581.00	\$34.71	\$242.97	\$280.50	\$1,963.50
68	505S-B	18" STEEL ENCASEMENT PIPE (OPEN CUT) (3/8" THICK)	65	LF	\$160.00	\$10,400.00	\$48.00	\$3,120.00	\$52.48	\$3,411.20	\$69.36	\$4,508.40
69	505S-B	18" STEEL ENCASEMENT PIPE (BORE) (3/8" THICK)	35	LF	\$380.00	\$13,300.00	\$215.00	\$7,525.00	\$263.65	\$9,227.75	\$351.90	\$12,316.50
70	509S-1	TRENCH SAFETY SYSTEMS	1,362	LF	\$2.50	\$3,405.00	\$1.10	\$1,498.20	\$1.07	\$1,457.34	\$0.10	\$136.20
71	510-AW	8" PVC WATER PIPE (C-900 DR14), INCLUDING TRACER WIRE	1,362	LF	\$38.00	\$51,756.00	\$28.50	\$38,817.00	\$21.32	\$29,037.84	\$28.56	\$38,898.72

BID FEM	TECH SPEC	DESCRIPTION	BID QUANTITY	UNIT MEASURE	ENGINEER	'S ESTIMATE	FT WOODS CO	NSTRUCTION	JOE BLAND CONSTRUCTION		RANGER EXCAVATING	
I EIVI	SPEC		QUANTITY	WEASURE	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID
72	510-A-8" Dia RW	D.I. RESTRAINTS FOR 8" PVC WATER PIPE	348	LF	\$15.00	\$5,220.00	\$8.15	\$2,836.20	\$24.81	\$8,633.88	\$6.12	\$2,129.76
73	510-BW	RECONNECT EXISTING WATER SERVICE	3	EA	\$2,000.00	\$6,000.00	\$1,350.00	\$4,050.00	\$949.62	\$2,848.86	\$1,836.00	\$5,508.00
74	510-JW	WET CONNECTION	3	EA	\$1,000.00	\$3,000.00	\$1,425.00	\$4,275.00	\$1,032.89	\$3,098.67	\$1,836.00	\$5,508.00
75	510-KW	8" D.I. FITTINGS	11	EA	\$1,000.00	\$11,000.00	\$2,750.00	\$30,250.00	\$34.19	\$376.09	\$357.00	\$3,927.00
76	511S-A	8" RESILIENT WEDGE GATE VALVE	3	EA	\$1,600.00	\$4,800.00	\$1,100.00	\$3,300.00	\$1,458.80	\$4,376.40	\$1,224.00	\$3,672.00
	TOTAL COST	T OF BASE BID ADJUSTED FOR CORRECTNESS				\$2,038,076.14		\$1,183,999.03		\$1,313,929.98		\$1,460,627.18
	ACTUAL BAS	SE BID PROPOSAL				\$9,772,570.90		\$1,184,000.00		\$1,313,929.98		\$1,460,627.18
	ADJUSTMEN	IT DIFFERENCE						-\$0.97		\$0.00		\$0.00
	A al ala ala.a	and of Addresses										
		ement of Addenda:						Yes		Yes		Yes
	Addendum No	0. 1						res		res		res
	Bid Bond							Yes		Yes		Yes
	Dia Dona							100				100
	Conflict of Inte	erest Statement						Yes		Yes		Yes
	References (I	Mimimum of three)						Yes		Yes		Yes

BID	TECH	DESCRIPTION	BID	UNIT	CHASCO CON	ISTRUCTORS	CAPITAL EX	CAVATION	SMITH CONT	TRACTING	CASH CONS	TRUCTION
ITEM	SPEC		QUANTITY	MEASURE	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID
1	100-2002	PREPARING ROW	71.6	STA	\$982.00	\$70,311.20	\$600.00	\$42,960.00	\$500.00	\$35,800.00	\$600.00	\$42,960.00
2	105-2020	REMOV STAB BASE AND ASPHALT (PAV)	8,858	SY	\$0.85	\$7,529.30	\$1.00	\$8,858.00	\$2.00	\$17,716.00	\$0.80	\$7,086.40
3	110-2001	EXCAVATION (RDWY)	16,487	CY	\$3.80	\$62,650.60	\$4.70	\$77,488.90	\$4.00	\$65,948.00	\$4.00	\$65,948.00
4	110-2002	EXCAVATION (CHAN)	703.7	CY	\$3.00	\$2,111.10	\$5.00	\$3,518.50	\$5.00	\$3,518.50	\$5.00	\$3,518.50
5	132-2004	EMBANK (FINAL) (DENS CONT) (TY B)	34,691	CY	\$5.50	\$190,800.50	\$3.50	\$121,418.50	\$7.00	\$242,837.00	\$5.00	\$173,455.00
6	160-2003	FURNISHING AND PLACING TOPSOIL (4")	44,767	SY	\$0.60	\$26,860.20	\$0.70	\$31,336.90	\$1.25	\$55,958.75	\$1.00	\$44,767.00
7	164	BROADCAST SEED (TEMP) (WARM OR COOL)	22,384	SY	\$0.30	\$6,715.20	\$0.30	\$6,715.20	\$0.15	\$3,357.60	\$0.10	\$2,238.40
8	164-2035	DRILL SEEDING (PERM) (RURAL) (CLAY)	44,767	SY	\$0.55	\$24,621.85	\$0.35	\$15,668.45	\$0.20	\$8,953.40	\$0.10	\$4,476.70
9	169-2001	SOIL RETENTION BLANKETS (CL1) (TYA)	455	SY	\$1.35	\$614.25	\$1.00	\$455.00	\$3.00	\$1,365.00	\$1.20	\$546.00
10	247-244	FL BS (CMP IN PLC) (TY A GR 4) (FINAL POS)	11,743	CY	\$22.40	\$263,043.20	\$23.00	\$270,089.00	\$22.00	\$258,346.00	\$27.00	\$317,061.00
11	310-2001	PRIME COAT (MC-30)	6,154	GAL	\$2.95	\$18,154.30	\$3.00	\$18,462.00	\$3.00	\$18,462.00	\$3.00	\$18,462.00
12	341-2034	D-GR HMA(QCQA) TY-C PG64-22	3,386	TON	\$49.20	\$166,591.20	\$49.00	\$165,914.00	\$55.00	\$186,230.00	\$47.00	\$159,142.00
13	341-2006	D-GR HMA(QCQA) TY-D PG64-22	2,539	TON	\$48.75	\$123,776.25	\$48.00	\$121,872.00	\$55.00	\$139,645.00	\$48.00	\$121,872.00
14	354-2051	PLANE ASPH CONC PAV (0" TO 1 1/2")	345.3	SY	\$14.00	\$4,834.20	\$18.00	\$6,215.40	\$15.00	\$5,179.50	\$60.00	\$20,718.00
15	400-2002	STRUCT EXCAV (BOX)	76.3	CY	\$11.20	\$854.56	\$1.00	\$76.30	\$10.00	\$763.00	\$10.00	\$763.00
16	400-2003	STRUCT EXCAV (PIPE)	324.5	CY	\$1.00	\$324.50	\$1.00	\$324.50	\$10.00	\$3,245.00	\$10.00	\$3,245.00
17	432-2002	RIPRAP (CONC)(5IN)	27.66	CY	\$225.00	\$6,223.50	\$400.00	\$11,064.00	\$250.00	\$6,915.00	\$250.00	\$6,915.00
18	432-2005	RIPRAP (STONE TY R) (DRY) (6 IN)	50.96	CY	\$62.00	\$3,159.52	\$75.00	\$3,822.00	\$50.00	\$2,548.00	\$50.00	\$2,548.00
19	432-2040	RIPRAP (MOW STRIP) (5 IN)	5.47	CY	\$279.00	\$1,526.13	\$420.00	\$2,297.40	\$350.00	\$1,914.50	\$400.00	\$2,188.00
20	460-2003	CMP (GAL STL 18 IN)	191.8	LF	\$30.73	\$5,894.01	\$40.00	\$7,672.00	\$30.00	\$5,754.00	\$35.00	\$6,713.00
21	460-2004	CMP (GAL STL 24 IN)	55.1	LF	\$36.00	\$1,983.60	\$50.00	\$2,755.00	\$42.00	\$2,314.20	\$40.00	\$2,204.00
22	460-2005	CMP (GAL STL 30 IN)	21.2	LF	\$45.00	\$954.00	\$60.00	\$1,272.00	\$50.00	\$1,060.00	\$44.00	\$932.80
23	462-2010	CONC BOX CULVERT (6FT x 3FT)	304	LF	\$181.00	\$55,024.00	\$210.00	\$63,840.00	\$264.00	\$80,256.00	\$170.00	\$51,680.00
24	464-2003	RC PIPE (CL III) (18 IN)	45	LF	\$38.00	\$1,710.00	\$50.00	\$2,250.00	\$24.00	\$1,080.00	\$26.00	\$1,170.00
25	464-2005	RC PIPE (CL III) (24 IN)	374	LF	\$46.00	\$17,204.00	\$50.00	\$18,700.00	\$36.00	\$13,464.00	\$33.00	\$12,342.00
26	464-2007	RC PIPE CL III) (30 IN)	294	LF	\$61.00	\$17,934.00	\$60.00	\$17,640.00	\$47.00	\$13,818.00	\$43.00	\$12,642.00
27	464-2009	RC PIPE (CL III) (36 IN)	219	LF	\$66.00	\$14,454.00	\$80.00	\$17,520.00	\$60.00	\$13,140.00	\$53.00	\$11,607.00
28	466-2035	WINGWALL (FW-S)(HW=5FT)	1	EA	\$5,000.00	\$5,000.00	\$7,000.00	\$7,000.00	\$7,500.00	\$7,500.00	\$19,000.00	\$19,000.00
29	466-2036	WINGWALL (FW-S)(HW=67FT)	1	EA	\$6,600.00	\$6,600.00	\$8,000.00	\$8,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00
30	467-2209	SET (TY II) (18 IN) (RCP) (3:1) C	1	EA	\$1,300.00	\$1,300.00	\$1,000.00	\$1,000.00	\$750.00	\$750.00	\$1,200.00	\$1,200.00
31	467-2211	SET (TY II) (24 IN) (RCP) (3:1) C	5	EA	\$1,750.00	\$8,750.00	\$1,000.00	\$5,000.00	\$850.00	\$4,250.00	\$1,400.00	\$7,000.00
32	467-2213	SET (TY II) (30 IN) (RCP) (3:1) C	8	EA	\$2,000.00	\$16,000.00	\$1,000.00	\$8,000.00	\$1,050.00	\$8,400.00	\$2,000.00	\$16,000.00
33	467-2215	SET (TY II) (36 IN) (RCP) (3:1) C	3	EA	\$3,000.00	\$9,000.00	\$2,000.00	\$6,000.00	\$1,100.00	\$3,300.00	\$2,000.00	\$6,000.00
34	467-2222	SET (TY II) (18 IN) (RCP) (4:1) C	1	EA	\$1,400.00	\$1,400.00	\$1,000.00	\$1,000.00	\$850.00	\$850.00	\$1,200.00	\$1,200.00
35	467-2224	SET (TY II) (24 IN) (RCP) (4:1) C	5	EA	\$2,000.00	\$10,000.00	\$1,000.00	\$5,000.00	\$950.00	\$4,750.00	\$1,500.00	\$7,500.00
36	467-2227	SET (TY II) (36 IN) (RCP) (4:1) C	3	EA	\$3,300.00	\$9,900.00	\$2,000.00	\$6,000.00	\$1,200.00	\$3,600.00	\$3,000.00	\$9,000.00

BID ITEM	TECH SPEC	DESCRIPTION	BID QUANTITY	UNIT MEASURE	CHASCO CON	ISTRUCTORS	CAPITAL EX	CAVATION	SMITH CONT	TRACTING	CASH CONS	TRUCTION
IIEW	SPEC		QUANTITY	WEASURE	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID
37	467-2301	SET (TY II) (18 IN) (CMP) (6:1) P	12	EA	\$725.00	\$8,700.00	\$800.00	\$9,600.00	\$750.00	\$9,000.00	\$1,600.00	\$19,200.00
38	467-2303	SET (TY II) (24 IN) (CMP) (6:1) P	4	EA	\$954.00	\$3,816.00	\$1,000.00	\$4,000.00	\$850.00	\$3,400.00	\$2,100.00	\$8,400.00
39	467-2305	SET (TY II) (30 IN) (CMP) (6:1) P	2	EA	\$1,300.00	\$2,600.00	\$1,500.00	\$3,000.00	\$950.00	\$1,900.00	\$2,600.00	\$5,200.00
40	496-2016	REM STR (PIPE)	6	EA	\$112.00	\$672.00	\$100.00	\$600.00	\$200.00	\$1,200.00	\$600.00	\$3,600.00
41	500-2001	MOBILIZATION	1	LS	\$79,000.00	\$79,000.00	\$140,000.00	\$140,000.00	\$50,000.00	\$50,000.00	\$57,500.32	\$57,500.32
42	502-2001	BARRICADES, SIGNS AND TRAF HANDLING	9	MO	\$3,040.00	\$27,360.00	\$2,000.00	\$18,000.00	\$2,500.00	\$22,500.00	\$2,000.00	\$18,000.00
43	506-2001	ROCK FILTER DAMS (INSTALL) (TY 1)	420	LF	\$10.80	\$4,536.00	\$17.00	\$7,140.00	\$12.00	\$5,040.00	\$15.00	\$6,300.00
44	506-2003	ROCK FILTER DAMS (INSTALL) (TY 3)	20	LF	\$19.10	\$382.00	\$30.00	\$600.00	\$40.00	\$800.00	\$22.00	\$440.00
45	506-2009	ROCK FILTER DAMS (REMOVE)	440	LF	\$2.60	\$1,144.00	\$7.00	\$3,080.00	\$5.00	\$2,200.00	\$2.00	\$880.00
46	506-2016	CONSTRUCTION EXITS (INSTALL) (TY 1)	156	SY	\$5.50	\$858.00	\$7.00	\$1,092.00	\$12.00	\$1,872.00	\$8.00	\$1,248.00
47	506-2019	CONSTRUCTION EXITS (REMOVE)	156	SY	\$2.55	\$397.80	\$4.00	\$624.00	\$5.00	\$780.00	\$2.00	\$312.00
48	506-2035	BIODEGRADEBLE EROSION CONTROL LOGS (18 IN)	8,132	LF	\$3.85	\$31,308.20	\$4.00	\$32,528.00	\$4.00	\$32,528.00	\$4.00	\$32,528.00
49	508-2001	CONSTRUCTING DETOURS	6.5	STA	\$1,600.00	\$10,400.00	\$3,000.00	\$19,500.00	\$1,200.00	\$7,800.00	\$2,500.00	\$16,250.00
50	530-2011	DRIVEWAYS (ACP)	1,393	SY	\$18.00	\$25,074.00	\$26.00	\$36,218.00	\$14.00	\$19,502.00	\$26.00	\$36,218.00
51	540-2001	MTL W - BEAM GD FEN (TIM POST)	314.76	LF	\$19.00	\$5,980.44	\$19.00	\$5,980.44	\$15.00	\$4,721.40	\$18.00	\$5,665.68
52	540-2002	MTL W - BEAM GD FEN (STEEL POST)	85.24	LF	\$29.00	\$2,471.96	\$28.00	\$2,386.72	\$40.00	\$3,409.60	\$30.00	\$2,557.20
53	540-2005	TERMINAL ANCHOR SECTION	2	EA	\$415.00	\$830.00	\$400.00	\$800.00	\$450.00	\$900.00	\$400.00	\$800.00
54	544-2001	GUARDRAIL END TREATMENT (INSTALL)	2	EA	\$1,850.00	\$3,700.00	\$1,800.00	\$3,600.00	\$2,400.00	\$4,800.00	\$2,000.00	\$4,000.00
55	560-2001	MAILBOX INSTALLATION (SINGLE)	1	EA	\$155.00	\$155.00	\$120.00	\$120.00	\$200.00	\$200.00	\$150.00	\$150.00
56	644-2001	INS SM RD SN SUP&AM TY 10BWG(1) SA(P)	6	EA	\$410.00	\$2,460.00	\$400.00	\$2,400.00	\$500.00	\$3,000.00	\$400.00	\$2,400.00
57	658-2240	INSTL DEL ASSM (D-SW) SZ 1 (FLX) GF-2	12	EA	\$46.50	\$558.00	\$24.00	\$288.00	\$100.00	\$1,200.00	\$40.00	\$480.00
58	658-2275	INSTL DEL ASSM (D-SY) SZ 2 (WC) GND	16	EA	\$67.00	\$1,072.00	\$29.00	\$464.00	\$100.00	\$1,600.00	\$70.00	\$1,120.00
59	658-2315	INSTL OM ASSM (OM-2Y) (WC) GND	4	EA	\$50.00	\$200.00	\$32.00	\$128.00	\$100.00	\$400.00	\$50.00	\$200.00
60	662-2004	WRK ZN PAV MRK NON-REMOV (W) (4") (SLD)	10,872	LF	\$0.20	\$2,174.40	\$0.30	\$3,261.60	\$0.22	\$2,391.84	\$0.20	\$2,174.40
61	662-2032	WRK ZN PAV MRK NON-REMOV (Y) (4")(SLD)	10,872	LF	\$0.20	\$2,174.40	\$0.30	\$3,261.60	\$0.22	\$2,391.84	\$0.20	\$2,174.40
62	666-2012	REFL PAV MRK TY I (W) (4") (SLD)	13,796	LF	\$0.26	\$3,586.96	\$0.30	\$4,138.80	\$0.40	\$5,518.40	\$0.30	\$4,138.80
63	666-2157	REFL PAV MRK TY I (W) (24") (SLD)	20	LF	\$21.00	\$420.00	\$12.00	\$240.00	\$15.00	\$300.00	\$10.00	\$200.00
64	666-5178	REFL PAV MRK TY I (Y) (4") (SLD)	14,038	LF	\$0.26	\$3,649.88	\$0.30	\$4,211.40	\$0.40	\$5,615.20	\$0.30	\$4,211.40
65	672-2015	REFL PAV MRKR TYI I-A-A	181	EA	\$3.40	\$615.40	\$5.00	\$905.00	\$6.00	\$1,086.00	\$5.00	\$905.00
66	677-2001	ELIM EXT PAV MRK & MRKS (4")	1,200	LF	\$0.50	\$600.00	\$1.00	\$1,200.00	\$1.00	\$1,200.00	\$0.70	\$840.00
67	400-XXXX	CUT & RESTORE PAVEMENT (DRIVEWAY)	7	SY	\$279.00	\$1,953.00	\$100.00	\$700.00	\$200.00	\$1,400.00	\$40.00	\$280.00
68	505S-B	18" STEEL ENCASEMENT PIPE (OPEN CUT) (3/8" THICK)	65	LF	\$95.00	\$6,175.00	\$57.00	\$3,705.00	\$80.00	\$5,200.00	\$100.00	\$6,500.00
69	505S-B	18" STEEL ENCASEMENT PIPE (BORE) (3/8" THICK)	35	LF	\$374.00	\$13,090.00	\$300.00	\$10,500.00	\$274.00	\$9,590.00	\$540.00	\$18,900.00
70	509S-1	TRENCH SAFETY SYSTEMS	1,362	LF	\$0.80	\$1,089.60	\$1.00	\$1,362.00	\$1.00	\$1,362.00	\$0.50	\$681.00
71	510-AW	8" PVC WATER PIPE (C-900 DR14), INCLUDING TRACER WIRE	1,362	LF	\$25.00	\$34,050.00	\$28.00	\$38,136.00	\$18.00	\$24,516.00	\$32.00	\$43,584.00

Williamson County Road Bond Program 09WC723 - CR 214 Phase 2A HNTB Bid Tabulation October 7, 2009

TECH	DESCRIPTION	BID	UNIT	CHASCO CON	ISTRUCTORS	CAPITAL EX	CAVATION	SMITH CON	TRACTING	CASH CONS	TRUCTION
SPEC		QUANTITI	WEASORE	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID
510-A-8" Dia RW	D.I. RESTRAINTS FOR 8" PVC WATER PIPE	348	LF	\$4.20	\$1,461.60	\$7.00	\$2,436.00	\$12.00	\$4,176.00	\$6.00	\$2,088.00
510-BW	RECONNECT EXISTING WATER SERVICE	3	EA	\$2,100.00	\$6,300.00	\$900.00	\$2,700.00	\$1,500.00	\$4,500.00	\$700.00	\$2,100.00
510-JW	WET CONNECTION	3	EA	\$2,000.00	\$6,000.00	\$3,000.00	\$9,000.00	\$2,000.00	\$6,000.00	\$1,500.00	\$4,500.00
510-KW	8" D.I. FITTINGS	11	EA	\$230.00	\$2,530.00	\$300.00	\$3,300.00	\$500.00	\$5,500.00	\$350.00	\$3,850.00
511S-A	8" RESILIENT WEDGE GATE VALVE	3	EA	\$1,235.00	\$3,705.00	\$1,200.00	\$3,600.00	\$1,500.00	\$4,500.00	\$1,000.00	\$3,000.00
TOTAL COS	T OF BASE BID ADJUSTED FOR CORRECTNESS				\$1,467,059.81		\$1,472,011.61		\$1,496,988.73	<u>.</u>	\$1,507,677.00
ACTUAL BAS	SE BID PROPOSAL				\$1,467,059.81		\$1,472,011.61		\$1,496,988.73		\$1,507,677.00
ADJUSTMEN	IT DIFFERENCE				\$0.00		\$0.00		\$0.00		\$0.00
Addendum N	0. 1				Yes		Yes		Yes		Yes
							V				V
3id Bond					Yes		Yes		Yes		Yes
.	and Otalana d				V		V		V.		V
Conflict of Int	erest Statement				Yes		Yes		Yes		Yes
Poforonoco (I	Mimimum of throo)				Voc		Voc		Voc		Yes
	SPEC 510-A-8" Dia RW 510-BW 510-JW 510-KW 511S-A TOTAL COST ACTUAL BAS ACTUAL BAS ACHOWLED Addendum N Bid Bond Conflict of Interpretation	SPEC 510-A-8" Dia RW D.I. RESTRAINTS FOR 8" PVC WATER PIPE 510-BW RECONNECT EXISTING WATER SERVICE 510-JW WET CONNECTION 510-KW 8" D.I. FITTINGS 511S-A 8" RESILIENT WEDGE GATE VALVE TOTAL COST OF BASE BID ADJUSTED FOR CORRECTNESS ACTUAL BASE BID PROPOSAL ADJUSTMENT DIFFERENCE Acknowledgement of Addenda: Addendum No. 1	SPEC DESCRIPTION QUANTITY 510-A-8" Dia RW D.I. RESTRAINTS FOR 8" PVC WATER PIPE 348 510-BW RECONNECT EXISTING WATER SERVICE 3 510-JW WET CONNECTION 3 510-KW 8" D.I. FITTINGS 11 511S-A 8" RESILIENT WEDGE GATE VALVE 3 TOTAL COST OF BASE BID ADJUSTED FOR CORRECTNESS ACTUAL BASE BID PROPOSAL ACTUAL BASE BID PROPOSAL Acknowledgement of Addenda: Addendum No. 1 Bid Bond Conflict of Interest Statement	SPEC DESCRIPTION QUANTITY MEASURE 510-A-8" Dia RW Dia RW 510-BW RECONNECT EXISTING WATER SERVICE 3 EA 510-JW WET CONNECTION 3 EA 510-KW 8" D.I. FITTINGS 11 EA 511S-A 8" RESILIENT WEDGE GATE VALVE 3 EA TOTAL COST OF BASE BID ADJUSTED FOR CORRECTNESS ACTUAL BASE BID PROPOSAL ACKNOWledgement of Addenda: Addendum No. 1 Sid Bond Conflict of Interest Statement	SPEC DESCRIPTION QUANTITY MEASURE UNIT COST	SPEC DESCRIPTION QUANTITY MEASURE UNIT COST AMOUNT BID	SPEC DESCRIPTION QUANTITY MEASURE UNIT COST AMOUNT BID UNIT COST	SPEC DESCRIPTION QUANTITY MEASURE UNIT COST AMOUNT BID UNIT COST AMOUNT BID	SPEC DESCRIPTION QUANTITY MEASURE UNIT COST AMOUNT BID UNIT COST MOUNT BID UNIT COST STORE STORE	SPEC DESCRIPTION QUANTITY MEASURE UNIT COST AMOUNT BID UNIT COST UNIT COST	SPEC DESCRIPTION

BID	TECH	DESCRIPTION	BID	UNIT	AUSTIN BRID	OGE & ROAD	DAN WILL	IAMS CO.	RGM CONST	RUCTORS	AARON CC	NCRETE
ITEM	SPEC		QUANTITY	MEASURE	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID
1	100-2002	PREPARING ROW	71.6	STA	\$615.00	\$44,034.00	\$700.00	\$50,120.00	\$1,875.00	\$134,250.00	\$1,200.00	\$85,920.00
2	105-2020	REMOV STAB BASE AND ASPHALT (PAV)	8,858	SY	\$2.00	\$17,716.00	\$2.00	\$17,716.00	\$1.60	\$14,172.80	\$2.50	\$22,145.00
3	110-2001	EXCAVATION (RDWY)	16,487	CY	\$6.00	\$98,922.00	\$4.50	\$74,191.50	\$4.00	\$65,948.00	\$8.00	\$131,896.00
4	110-2002	EXCAVATION (CHAN)	703.7	CY	\$6.00	\$4,222.20	\$9.00	\$6,333.30	\$9.00	\$6,333.30	\$15.00	\$10,555.50
5	132-2004	EMBANK (FINAL) (DENS CONT) (TY B)	34,691	CY	\$6.00	\$208,146.00	\$8.00	\$277,528.00	\$3.50	\$121,418.50	\$8.00	\$277,528.00
6	160-2003	FURNISHING AND PLACING TOPSOIL (4")	44,767	SY	\$1.80	\$80,580.60	\$0.75	\$33,575.25	\$4.00	\$179,068.00	\$2.15	\$96,249.05
7	164	BROADCAST SEED (TEMP) (WARM OR COOL)	22,384	SY	\$0.09	\$2,014.56	\$0.25	\$5,596.00	\$0.04	\$895.36	\$0.04	\$895.36
8	164-2035	DRILL SEEDING (PERM) (RURAL) (CLAY)	44,767	SY	\$0.20	\$8,953.40	\$0.50	\$22,383.50	\$0.05	\$2,238.35	\$0.05	\$2,238.35
9	169-2001	SOIL RETENTION BLANKETS (CL1) (TYA)	455	SY	\$2.00	\$910.00	\$1.40	\$637.00	\$1.40	\$637.00	\$1.35	\$614.25
10	247-244	FL BS (CMP IN PLC) (TY A GR 4) (FINAL POS)	11,743	CY	\$27.25	\$319,996.75	\$23.00	\$270,089.00	\$22.00	\$258,346.00	\$27.15	\$318,822.45
11	310-2001	PRIME COAT (MC-30)	6,154	GAL	\$5.00	\$30,770.00	\$3.00	\$18,462.00	\$3.00	\$18,462.00	\$2.85	\$17,538.90
12	341-2034	D-GR HMA(QCQA) TY-C PG64-22	3,386	TON	\$55.00	\$186,230.00	\$51.00	\$172,686.00	\$51.50	\$174,379.00	\$50.00	\$169,300.00
13	341-2006	D-GR HMA(QCQA) TY-D PG64-22	2,539	TON	\$55.00	\$139,645.00	\$50.00	\$126,950.00	\$51.00	\$129,489.00	\$49.00	\$124,411.00
14	354-2051	PLANE ASPH CONC PAV (0" TO 1 1/2")	345.3	SY	\$15.00	\$5,179.50	\$14.00	\$4,834.20	\$14.00	\$4,834.20	\$25.00	\$8,632.50
15	400-2002	STRUCT EXCAV (BOX)	76.3	CY	\$8.00	\$610.40	\$1.00	\$76.30	\$6.00	\$457.80	\$25.00	\$1,907.50
16	400-2003	STRUCT EXCAV (PIPE)	324.5	CY	\$8.00	\$2,596.00	\$1.00	\$324.50	\$8.00	\$2,596.00	\$15.00	\$4,867.50
17	432-2002	RIPRAP (CONC)(5IN)	27.66	CY	\$320.00	\$8,851.20	\$250.00	\$6,915.00	\$300.00	\$8,298.00	\$280.00	\$7,744.80
18	432-2005	RIPRAP (STONE TY R) (DRY) (6 IN)	50.96	CY	\$75.00	\$3,822.00	\$80.00	\$4,076.80	\$145.00	\$7,389.20	\$75.00	\$3,822.00
19	432-2040	RIPRAP (MOW STRIP) (5 IN)	5.47	CY	\$450.00	\$2,461.50	\$320.00	\$1,750.40	\$500.00	\$2,735.00	\$425.00	\$2,324.75
20	460-2003	CMP (GAL STL 18 IN)	191.8	LF	\$30.00	\$5,754.00	\$28.00	\$5,370.40	\$30.00	\$5,754.00	\$44.00	\$8,439.20
21	460-2004	CMP (GAL STL 24 IN)	55.1	LF	\$35.00	\$1,928.50	\$36.00	\$1,983.60	\$40.00	\$2,204.00	\$45.00	\$2,479.50
22	460-2005	CMP (GAL STL 30 IN)	21.2	LF	\$44.00	\$932.80	\$42.00	\$890.40	\$45.00	\$954.00	\$75.00	\$1,590.00
23	462-2010	CONC BOX CULVERT (6FT x 3FT)	304	LF	\$150.00	\$45,600.00	\$200.00	\$60,800.00	\$375.00	\$114,000.00	\$209.00	\$63,536.00
24	464-2003	RC PIPE (CL III) (18 IN)	45	LF	\$30.00	\$1,350.00	\$60.00	\$2,700.00	\$28.00	\$1,260.00	\$44.00	\$1,980.00
25	464-2005	RC PIPE (CL III) (24 IN)	374	LF	\$35.00	\$13,090.00	\$72.00	\$26,928.00	\$33.00	\$12,342.00	\$45.00	\$16,830.00
26	464-2007	RC PIPE CL III) (30 IN)	294	LF	\$50.00	\$14,700.00	\$90.00	\$26,460.00	\$37.00	\$10,878.00	\$50.00	\$14,700.00
27	464-2009	RC PIPE (CL III) (36 IN)	219	LF	\$65.00	\$14,235.00	\$100.00	\$21,900.00	\$55.00	\$12,045.00	\$68.00	\$14,892.00
28	466-2035	WINGWALL (FW-S)(HW=5FT)	1	EA	\$12,000.00	\$12,000.00	\$5,200.00	\$5,200.00	\$12,000.00	\$12,000.00	\$7,500.00	\$7,500.00
29	466-2036	WINGWALL (FW-S)(HW=67FT)	1	EA	\$15,000.00	\$15,000.00	\$6,500.00	\$6,500.00	\$13,000.00	\$13,000.00	\$9,000.00	\$9,000.00
30	467-2209	SET (TY II) (18 IN) (RCP) (3:1) C	1	EA	\$600.00	\$600.00	\$1,400.00	\$1,400.00	\$1,400.00	\$1,400.00	\$750.00	\$750.00
31	467-2211	SET (TY II) (24 IN) (RCP) (3:1) C	5	EA	\$1,050.00	\$5,250.00	\$1,500.00	\$7,500.00	\$3,000.00	\$15,000.00	\$850.00	\$4,250.00
32	467-2213	SET (TY II) (30 IN) (RCP) (3:1) C	8	EA	\$1,100.00	\$8,800.00	\$1,600.00	\$12,800.00	\$2,500.00	\$20,000.00	\$1,000.00	\$8,000.00
33	467-2215	SET (TY II) (36 IN) (RCP) (3:1) C	3	EA	\$1,600.00	\$4,800.00	\$2,100.00	\$6,300.00	\$3,200.00	\$9,600.00	\$1,500.00	\$4,500.00
34	467-2222	SET (TY II) (18 IN) (RCP) (4:1) C	1	EA	\$600.00	\$600.00	\$1,500.00	\$1,500.00	\$1,300.00	\$1,300.00	\$750.00	\$750.00
35	467-2224	SET (TY II) (24 IN) (RCP) (4:1) C	5	EA	\$1,100.00	\$5,500.00	\$1,700.00	\$8,500.00	\$2,500.00	\$12,500.00	\$900.00	\$4,500.00
36	467-2227	SET (TY II) (36 IN) (RCP) (4:1) C	3	EA	\$1,700.00	\$5,100.00	\$2,400.00	\$7,200.00	\$3,300.00	\$9,900.00	\$1,500.00	\$4,500.00

BID ITEM	TECH SPEC	DESCRIPTION	BID QUANTITY	UNIT MEASURE	AUSTIN BRID	GE & ROAD	DAN WILL	IAMS CO.	RGM CONST	RUCTORS	AARON CO	NCRETE
II EIVI	3720		QUANTITI	WEASURE	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID
37	467-2301	SET (TY II) (18 IN) (CMP) (6:1) P	12	EA	\$900.00	\$10,800.00	\$700.00	\$8,400.00	\$1,000.00	\$12,000.00	\$730.00	\$8,760.00
38	467-2303	SET (TY II) (24 IN) (CMP) (6:1) P	4	EA	\$1,100.00	\$4,400.00	\$800.00	\$3,200.00	\$1,200.00	\$4,800.00	\$850.00	\$3,400.00
39	467-2305	SET (TY II) (30 IN) (CMP) (6:1) P	2	EA	\$1,700.00	\$3,400.00	\$1,000.00	\$2,000.00	\$1,500.00	\$3,000.00	\$1,000.00	\$2,000.00
40	496-2016	REM STR (PIPE)	6	EA	\$400.00	\$2,400.00	\$400.00	\$2,400.00	\$250.00	\$1,500.00	\$500.00	\$3,000.00
41	500-2001	MOBILIZATION	1	LS	\$5,000.00	\$5,000.00	\$95,000.00	\$95,000.00	\$70,000.00	\$70,000.00	\$145,000.00	\$145,000.00
42	502-2001	BARRICADES, SIGNS AND TRAF HANDLING	9	MO	\$1,600.00	\$14,400.00	\$5,500.00	\$49,500.00	\$1,800.00	\$16,200.00	\$1,050.00	\$9,450.00
43	506-2001	ROCK FILTER DAMS (INSTALL) (TY 1)	420	LF	\$20.00	\$8,400.00	\$11.00	\$4,620.00	\$17.00	\$7,140.00	\$16.75	\$7,035.00
44	506-2003	ROCK FILTER DAMS (INSTALL) (TY 3)	20	LF	\$30.00	\$600.00	\$26.00	\$520.00	\$24.00	\$480.00	\$24.00	\$480.00
45	506-2009	ROCK FILTER DAMS (REMOVE)	440	LF	\$8.00	\$3,520.00	\$7.50	\$3,300.00	\$7.30	\$3,212.00	\$7.00	\$3,080.00
46	506-2016	CONSTRUCTION EXITS (INSTALL) (TY 1)	156	SY	\$7.50	\$1,170.00	\$7.00	\$1,092.00	\$7.80	\$1,216.80	\$7.50	\$1,170.00
47	506-2019	CONSTRUCTION EXITS (REMOVE)	156	SY	\$5.00	\$780.00	\$4.50	\$702.00	\$4.20	\$655.20	\$4.00	\$624.00
48	506-2035	BIODEGRADEBLE EROSION CONTROL LOGS (18 IN)	8,132	LF	\$4.50	\$36,594.00	\$5.00	\$40,660.00	\$3.90	\$31,714.80	\$3.70	\$30,088.40
49	508-2001	CONSTRUCTING DETOURS	6.5	STA	\$2,500.00	\$16,250.00	\$1,700.00	\$11,050.00	\$5,000.00	\$32,500.00	\$1,700.00	\$11,050.00
50	530-2011	DRIVEWAYS (ACP)	1,393	SY	\$25.00	\$34,825.00	\$21.00	\$29,253.00	\$35.00	\$48,755.00	\$16.00	\$22,288.00
51	540-2001	MTL W - BEAM GD FEN (TIM POST)	314.76	LF	\$20.00	\$6,295.20	\$19.00	\$5,980.44	\$19.00	\$5,980.44	\$18.25	\$5,744.37
52	540-2002	MTL W - BEAM GD FEN (STEEL POST)	85.24	LF	\$35.00	\$2,983.40	\$29.00	\$2,471.96	\$35.00	\$2,983.40	\$34.00	\$2,898.16
53	540-2005	TERMINAL ANCHOR SECTION	2	EA	\$350.00	\$700.00	\$450.00	\$900.00	\$330.00	\$660.00	\$315.00	\$630.00
54	544-2001	GUARDRAIL END TREATMENT (INSTALL)	2	EA	\$2,000.00	\$4,000.00	\$1,900.00	\$3,800.00	\$1,950.00	\$3,900.00	\$1,895.00	\$3,790.00
55	560-2001	MAILBOX INSTALLATION (SINGLE)	1	EA	\$150.00	\$150.00	\$160.00	\$160.00	\$157.00	\$157.00	\$120.00	\$120.00
56	644-2001	INS SM RD SN SUP&AM TY 10BWG(1) SA(P)	6	EA	\$400.00	\$2,400.00	\$400.00	\$2,400.00	\$420.00	\$2,520.00	\$400.00	\$2,400.00
57	658-2240	INSTL DEL ASSM (D-SW) SZ 1 (FLX) GF-2	12	EA	\$30.00	\$360.00	\$48.00	\$576.00	\$47.00	\$564.00	\$24.00	\$288.00
58	658-2275	INSTL DEL ASSM (D-SY) SZ 2 (WC) GND	16	EA	\$34.00	\$544.00	\$55.00	\$880.00	\$68.00	\$1,088.00	\$29.00	\$464.00
59	658-2315	INSTL OM ASSM (OM-2Y) (WC) GND	4	EA	\$38.00	\$152.00	\$55.00	\$220.00	\$50.00	\$200.00	\$32.00	\$128.00
60	662-2004	WRK ZN PAV MRK NON-REMOV (W) (4") (SLD)	10,872	LF	\$0.20	\$2,174.40	\$0.17	\$1,848.24	\$0.28	\$3,044.16	\$0.28	\$3,044.16
61	662-2032	WRK ZN PAV MRK NON-REMOV (Y) (4")(SLD)	10,872	LF	\$0.20	\$2,174.40	\$0.17	\$1,848.24	\$0.28	\$3,044.16	\$0.28	\$3,044.16
62	666-2012	REFL PAV MRK TY I (W) (4") (SLD)	13,796	LF	\$0.30	\$4,138.80	\$0.25	\$3,449.00	\$0.32	\$4,414.72	\$0.30	\$4,138.80
63	666-2157	REFL PAV MRK TY I (W) (24") (SLD)	20	LF	\$20.00	\$400.00	\$21.00	\$420.00	\$12.50	\$250.00	\$12.00	\$240.00
64	666-5178	REFL PAV MRK TY I (Y) (4") (SLD)	14,038	LF	\$0.30	\$4,211.40	\$0.25	\$3,509.50	\$0.34	\$4,772.92	\$0.32	\$4,492.16
65	672-2015	REFL PAV MRKR TYI I-A-A	181	EA	\$4.00	\$724.00	\$3.40	\$615.40	\$5.00	\$905.00	\$4.75	\$859.75
66	677-2001	ELIM EXT PAV MRK & MRKS (4")	1,200	LF	\$0.50	\$600.00	\$0.46	\$552.00	\$0.80	\$960.00	\$0.75	\$900.00
67	400-XXXX	CUT & RESTORE PAVEMENT (DRIVEWAY)	7	SY	\$45.00	\$315.00	\$20.00	\$140.00	\$350.00	\$2,450.00	\$150.00	\$1,050.00
68	505S-B	18" STEEL ENCASEMENT PIPE (OPEN CUT) (3/8" THICK)	65	LF	\$90.00	\$5,850.00	\$110.00	\$7,150.00	\$85.00	\$5,525.00	\$140.00	\$9,100.00
69	505S-B	18" STEEL ENCASEMENT PIPE (BORE) (3/8" THICK)	35	LF	\$200.00	\$7,000.00	\$350.00	\$12,250.00	\$475.00	\$16,625.00	\$320.00	\$11,200.00
70	509S-1	TRENCH SAFETY SYSTEMS	1,362	LF	\$1.00	\$1,362.00	\$2.00	\$2,724.00	\$1.00	\$1,362.00	\$2.00	\$2,724.00
71	510-AW	8" PVC WATER PIPE (C-900 DR14), INCLUDING TRACER WIRE	1,362	LF	\$27.00	\$36,774.00	\$30.00	\$40,860.00	\$34.00	\$46,308.00	\$30.00	\$40,860.00

Williamson County Road Bond Program 09WC723 - CR 214 Phase 2A HNTB Bid Tabulation October 7, 2009

BID	TECH SPEC	DESCRIPTION	BID QUANTITY	UNIT MEASURE	AUSTIN BRID	GE & ROAD	DAN WILL	IAMS CO.	RGM CONS	TRUCTORS	AARON CO	NCRETE
IIEW	SPEC		QUANTITY	WEASURE	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID
72	510-A-8" Dia RW	D.I. RESTRAINTS FOR 8" PVC WATER PIPE	348	LF	\$8.00	\$2,784.00	\$5.00	\$1,740.00	\$60.00	\$20,880.00	\$45.00	\$15,660.00
73	510-BW	RECONNECT EXISTING WATER SERVICE	3	EA	\$475.00	\$1,425.00	\$800.00	\$2,400.00	\$700.00	\$2,100.00	\$2,500.00	\$7,500.00
74	510-JW	WET CONNECTION	3	EA	\$525.00	\$1,575.00	\$2,400.00	\$7,200.00	\$2,400.00	\$7,200.00	\$1,500.00	\$4,500.00
75	510-KW	8" D.I. FITTINGS	11	EA	\$325.00	\$3,575.00	\$300.00	\$3,300.00	\$300.00	\$3,300.00	\$500.00	\$5,500.00
76	511S-A	8" RESILIENT WEDGE GATE VALVE	3	EA	\$1,025.00	\$3,075.00	\$900.00	\$2,700.00	\$1,200.00	\$3,600.00	\$1,400.00	\$4,200.00
	TOTAL COS	T OF BASE BID ADJUSTED FOR CORRECTNESS				\$1,559,183.01		\$1,659,968.93		\$1,764,052.11		\$1,838,510.57
	ACTUAL BAS	SE BID PROPOSAL				\$1,559,183.01		\$1,659,968.93		\$1,764,052.11		\$1,736,216.57
	ADJUSTMEN	NT DIFFERENCE				\$0.00		\$0.00		\$0.00		\$102,294.00
	_	ement of Addenda:										
	Addendum N	lo. 1				Yes		Yes		Yes		Yes
	Bid Bond					Yes		Yes		Yes		Yes
	Conflict of Int	terest Statement				Yes		Yes		Yes		Yes
	References ((Mimimum of three)				Yes		Yes		Yes		Yes

BID	TECH	DESCRIPTION	BID	UNIT	CHAMPION	SITE PREP	HUNTER IN	DUSTRIES
ITEM	SPEC		QUANTITY	MEASURE	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID
1	100-2002	PREPARING ROW	71.6	STA	\$965.00	\$69,094.00	\$1,432.50	\$102,567.00
2	105-2020	REMOV STAB BASE AND ASPHALT (PAV)	8,858	SY	\$2.06	\$18,247.48	\$6.75	\$59,791.50
3	110-2001	EXCAVATION (RDWY)	16,487	CY	\$7.12	\$117,387.44	\$12.72	\$209,714.64
4	110-2002	EXCAVATION (CHAN)	703.7	CY	\$23.31	\$16,403.25	\$21.66	\$15,242.14
5	132-2004	EMBANK (FINAL) (DENS CONT) (TY B)	34,691	CY	\$11.24	\$389,926.84	\$7.01	\$243,183.91
6	160-2003	FURNISHING AND PLACING TOPSOIL (4")	44,767	SY	\$1.67	\$74,760.89	\$1.99	\$89,086.33
7	164	BROADCAST SEED (TEMP) (WARM OR COOL)	22,384	SY	\$0.27	\$6,043.68	\$0.04	\$895.36
8	164-2035	DRILL SEEDING (PERM) (RURAL) (CLAY)	44,767	SY	\$0.48	\$21,488.16	\$0.05	\$2,238.35
9	169-2001	SOIL RETENTION BLANKETS (CL1) (TYA)	455	SY	\$1.46	\$664.30	\$1.35	\$614.25
10	247-244	FL BS (CMP IN PLC) (TY A GR 4) (FINAL POS)	11,743	CY	\$29.06	\$341,251.58	\$24.20	\$284,180.60
11	310-2001	PRIME COAT (MC-30)	6,154	GAL	\$3.64	\$22,400.56	\$4.29	\$26,400.66
12	341-2034	D-GR HMA(QCQA) TY-C PG64-22	3,386	TON	\$51.25	\$173,532.50	\$55.41	\$187,618.26
13	341-2006	D-GR HMA(QCQA) TY-D PG64-22	2,539	TON	\$52.30	\$132,789.70	\$56.46	\$143,351.94
14	354-2051	PLANE ASPH CONC PAV (0" TO 1 1/2")	345.3	SY	\$16.50	\$5,697.45	\$10.68	\$3,687.80
15	400-2002	STRUCT EXCAV (BOX)	76.3	CY	\$19.00	\$1,449.70	\$19.79	\$1,509.98
16	400-2003	STRUCT EXCAV (PIPE)	324.5	CY	\$15.40	\$4,997.30	\$14.85	\$4,818.83
17	432-2002	RIPRAP (CONC)(5IN)	27.66	CY	\$220.00	\$6,085.20	\$313.11	\$8,660.62
18	432-2005	RIPRAP (STONE TY R) (DRY) (6 IN)	50.96	CY	\$67.00	\$3,414.32	\$77.85	\$3,967.24
19	432-2040	RIPRAP (MOW STRIP) (5 IN)	5.47	CY	\$127.00	\$694.69	\$351.24	\$1,921.28
20	460-2003	CMP (GAL STL 18 IN)	191.8	LF	\$38.00	\$7,288.40	\$39.90	\$7,652.82
21	460-2004	CMP (GAL STL 24 IN)	55.1	LF	\$52.00	\$2,865.20	\$47.25	\$2,603.48
22	460-2005	CMP (GAL STL 30 IN)	21.2	LF	\$72.00	\$1,526.40	\$54.60	\$1,157.52
23	462-2010	CONC BOX CULVERT (6FT x 3FT)	304	LF	\$216.00	\$65,664.00	\$299.23	\$90,965.92
24	464-2003	RC PIPE (CL III) (18 IN)	45	LF	\$36.00	\$1,620.00	\$47.25	\$2,126.25
25	464-2005	RC PIPE (CL III) (24 IN)	374	LF	\$49.00	\$18,326.00	\$52.50	\$19,635.00
26	464-2007	RC PIPE CL III) (30 IN)	294	LF	\$75.00	\$22,050.00	\$68.25	\$20,065.50
27	464-2009	RC PIPE (CL III) (36 IN)	219	LF	\$94.00	\$20,586.00	\$94.49	\$20,693.31
28	466-2035	WINGWALL (FW-S)(HW=5FT)	1	EA	\$19,992.00	\$19,992.00	\$7,586.51	\$7,586.51
29	466-2036	WINGWALL (FW-S)(HW=67FT)	1	EA	\$23,716.00	\$23,716.00	\$9,782.94	\$9,782.94
30	467-2209	SET (TY II) (18 IN) (RCP) (3:1) C	1	EA	\$1,366.00	\$1,366.00	\$656.21	\$656.21
31	467-2211	SET (TY II) (24 IN) (RCP) (3:1) C	5	EA	\$1,639.00	\$8,195.00	\$787.46	\$3,937.30
32	467-2213	SET (TY II) (30 IN) (RCP) (3:1) C	8	EA	\$2,716.00	\$21,728.00	\$1,574.91	\$12,599.28
33	467-2215	SET (TY II) (36 IN) (RCP) (3:1) C	3	EA	\$3,690.00	\$11,070.00	\$2,309.87	\$6,929.61
34	467-2222	SET (TY II) (18 IN) (RCP) (4:1) C	1	EA	\$1,507.00	\$1,507.00	\$734.96	\$734.96
35	467-2224	SET (TY II) (24 IN) (RCP) (4:1) C	5	EA	\$1,780.00	\$8,900.00	\$866.20	\$4,331.00
36	467-2227	SET (TY II) (36 IN) (RCP) (4:1) C	3	EA	\$4,004.00	\$12,012.00	\$2,624.85	\$7,874.55

BID	TECH SPEC	DESCRIPTION	BID QUANTITY	UNIT MEASURE	CHAMPION SITE PREP		HUNTER INDUSTRIES	
ITEM					UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID
37	467-2301	SET (TY II) (18 IN) (CMP) (6:1) P	12	EA	\$1,843.00	\$22,116.00	\$944.95	\$11,339.40
38	467-2303	SET (TY II) (24 IN) (CMP) (6:1) P	4	EA	\$2,452.00	\$9,808.00	\$1,154.94	\$4,619.76
39	467-2305	SET (TY II) (30 IN) (CMP) (6:1) P	2	EA	\$3,287.00	\$6,574.00	\$2,729.85	\$5,459.70
40	496-2016	REM STR (PIPE)	6	EA	\$500.00	\$3,000.00	\$367.48	\$2,204.88
41	500-2001	MOBILIZATION	1	LS	\$98,250.00	\$98,250.00	\$155,558.70	\$155,558.70
42	502-2001	BARRICADES, SIGNS AND TRAF HANDLING	9	MO	\$3,991.00	\$35,919.00	\$4,398.97	\$39,590.73
43	506-2001	ROCK FILTER DAMS (INSTALL) (TY 1)	420	LF	\$11.75	\$4,935.00	\$16.75	\$7,035.00
44	506-2003	ROCK FILTER DAMS (INSTALL) (TY 3)	20	LF	\$20.75	\$415.00	\$23.35	\$467.00
45	506-2009	ROCK FILTER DAMS (REMOVE)	440	LF	\$2.80	\$1,232.00	\$7.00	\$3,080.00
46	506-2016	CONSTRUCTION EXITS (INSTALL) (TY 1)	156	SY	\$6.00	\$936.00	\$7.50	\$1,170.00
47	506-2019	CONSTRUCTION EXITS (REMOVE)	156	SY	\$2.88	\$449.28	\$4.00	\$624.00
48	506-2035	BIODEGRADEBLE EROSION CONTROL LOGS (18 IN)	8,132	LF	\$4.31	\$35,048.92	\$3.70	\$30,088.40
49	508-2001	CONSTRUCTING DETOURS	6.5	STA	\$5,700.00	\$37,050.00	\$2,190.00	\$14,235.00
50	530-2011	DRIVEWAYS (ACP)	1,393	SY	\$21.20	\$29,531.60	\$28.56	\$39,784.08
51	540-2001	MTL W - BEAM GD FEN (TIM POST)	314.76	LF	\$9.84	\$3,097.24	\$18.25	\$5,744.37
52	540-2002	MTL W - BEAM GD FEN (STEEL POST)	85.24	LF	\$20.58	\$1,754.24	\$34.00	\$2,898.16
53	540-2005	TERMINAL ANCHOR SECTION	2	EA	\$213.00	\$426.00	\$315.00	\$630.00
54	544-2001	GUARDRAIL END TREATMENT (INSTALL)	2	EA	\$1,283.00	\$2,566.00	\$1,895.00	\$3,790.00
55	560-2001	MAILBOX INSTALLATION (SINGLE)	1	EA	\$250.00	\$250.00	\$120.00	\$120.00
56	644-2001	INS SM RD SN SUP&AM TY 10BWG(1) SA(P)	6	EA	\$448.00	\$2,688.00	\$400.00	\$2,400.00
57	658-2240	INSTL DEL ASSM (D-SW) SZ 1 (FLX) GF-2	12	EA	\$51.00	\$612.00	\$24.00	\$288.00
58	658-2275	INSTL DEL ASSM (D-SY) SZ 2 (WC) GND	16	EA	\$72.00	\$1,152.00	\$29.00	\$464.00
59	658-2315	INSTL OM ASSM (OM-2Y) (WC) GND	4	EA	\$55.00	\$220.00	\$32.00	\$128.00
60	662-2004	WRK ZN PAV MRK NON-REMOV (W) (4") (SLD)	10,872	LF	\$0.20	\$2,174.40	\$0.17	\$1,848.24
61	662-2032	WRK ZN PAV MRK NON-REMOV (Y) (4")(SLD)	10,872	LF	\$0.20	\$2,174.40	\$0.17	\$1,848.24
62	666-2012	REFL PAV MRK TY I (W) (4") (SLD)	13,796	LF	\$0.28	\$3,862.88	\$0.25	\$3,449.00
63	666-2157	REFL PAV MRK TY I (W) (24") (SLD)	20	LF	\$23.00	\$460.00	\$20.00	\$400.00
64	666-5178	REFL PAV MRK TY I (Y) (4") (SLD)	14,038	LF	\$0.30	\$4,211.40	\$0.25	\$3,509.50
65	672-2015	REFL PAV MRKR TYI I-A-A	181	EA	\$3.75	\$678.75	\$3.35	\$606.35
66	677-2001	ELIM EXT PAV MRK & MRKS (4")	1,200	LF	\$0.51	\$612.00	\$0.45	\$540.00
67	400-XXXX	CUT & RESTORE PAVEMENT (DRIVEWAY)	7	SY	\$40.00	\$280.00	\$250.00	\$1,750.00
68	505S-B	18" STEEL ENCASEMENT PIPE (OPEN CUT) (3/8" THICK)	65	LF	\$68.00	\$4,420.00	\$128.00	\$8,320.00
69	505S-B	18" STEEL ENCASEMENT PIPE (BORE) (3/8" THICK)	35	LF	\$224.00	\$7,840.00	\$450.00	\$15,750.00
70	509S-1	TRENCH SAFETY SYSTEMS	1,362	LF	\$1.00	\$1,362.00	\$1.00	\$1,362.00
71	510-AW	8" PVC WATER PIPE (C-900 DR14), INCLUDING TRACER WIRE	1,362	LF	\$31.00	\$42,222.00	\$45.00	\$61,290.00

BID ITEM	TECH SPEC	DESCRIPTION	BID QUANTITY	UNIT MEASURE	CHAMPION SITE PREP		HUNTER INDUSTRIES		
					UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	
72	510-A-8" Dia RW	D.I. RESTRAINTS FOR 8" PVC WATER PIPE	348	LF	\$8.40	\$2,923.20	\$8.00	\$2,784.00	
73	510-BW	RECONNECT EXISTING WATER SERVICE	3	EA	\$1,344.00	\$4,032.00	\$1,250.00	\$3,750.00	
74	510-JW	WET CONNECTION	3	EA	\$1,064.00	\$3,192.00	\$750.00	\$2,250.00	
75	510-KW	8" D.I. FITTINGS	11	EA	\$504.00	\$5,544.00	\$100.00	\$1,100.00	
76	511S-A	8" RESILIENT WEDGE GATE VALVE	3	EA	\$1,232.00	\$3,696.00	\$1,100.00	\$3,300.00	
	TOTAL COST OF BASE BID ADJUSTED FOR CORRECTNESS \$2,042,456							\$2,054,359.36	
	ACTUAL BAS	SE BID PROPOSAL		\$2,042,456.34		\$2,054,359.36			
	ADJUSTMEN	IT DIFFERENCE		\$0.01		\$0.00			
	Λ al., a., a ala, a	mant of Added do							
	_	ment of Addenda:		Vaa		Yes			
	Addendum No. 1 Yes							res	
	Bid Bond					Yes		Yes	
						. 30		- 30	
	Conflict of Int	erest Statement		Yes	Yes				
	References (I	Mimimum of three)		Yes		Yes			